

ANNUAL REPORT

Season 1993/94

Officers for Season 1993-94

PATRON

The Right Honourable The Lord Mayor of the City of Adelaide

Mr Henry Ninio

PRESIDENT

Rod Hook

EXEC VICE PRESIDENT

Leon Milford

SECRETARY

Robert Cairney

TREASURER

Jan Hinkly

JUNIOR COORDINATOR

Jan Hinkly

MINUTE SECRETARY

Andrew McIntyre

CHAIRMAN OF SELECTORS

Mike Hendricks

MANAGEMENT COMMITTEE

John Ramage, John Roach, Dennis Kildare, Bob Gilbourne

Sara Stacey & Andrew McIntyre - players reps

SACA DELEGATES

Bob Harris, Robert Cairney

BAR MANAGER

John Wilson

CLUB COACH

Denis Kildare

WOMEN'S COACH

Shane Bernhardt

EXECUTIVE OFFICER

Alan Mitchell

HONORARY SOLICITOR

Paul Tanner and Associates

BANKERS

State Bank of South Australia

North Adelaide Branch 90 O'Connell Street North Adelaide

CAPTAINS

A Grade	Paul Nobes	U17	Simon Masters
A Grade (Women's)	Lee-Anne Hunter	U16R	Paul Knott
B Grade	Chris Price	U16W	Ben Newbold
B Grade (Women's)	Jackie Caldecourt	U14R	Luke Williams
C Grade	Shane Bernhardt	U14W	Anthony Morrell
D Grade	Tim Pitcher	U13 Red	Kelvin Karpany
E Grade	Craig Cooper		Sam Williams

LIFE MEMBERS

A A BEDFORD	H R SAGE
R C BERNHARDT	C L B STARR
K G CUNNINGHAM	S C SMITH
C R DEEREB	S LESKE
K P HARRIS	B SHELDON
M HENDRICKS	D R WALSH
R W LEE	J WINTER
C PRICE	G G YOUNG
C J PINCH	S GENTLE
R HOOK	S BERNHARDT
J HINKLY	

CLUB SPONSORS

MAJOR

BONE TIMBER INDUSTRIES (MEN'S TEAMS)

JARDINE AUSTRALIAN INSURANCE BROKERS PTY LTD (WOMEN'S TEAMS)

B S STILLWELL FORD PTY LTD (JUNIOR TEAMS)

GRAHAM CORNES TOYOTA

SPECIAL Ansett Australia Hungry Jacks

PLAYER SPONSORS

SPONSOR

MAID OF AUCKLAND HOTEL ESPLANADE HOTEL, BRIGHTON SOUTH PACIFIC TILES IAN HARRY & ASSOC INSURANCE KEITHBETH INDUSTRIAL PLUMBING SERVICES SUPRISE BASKETS PAUL HOLLOWAY MP STATE BANK OF SA

PLAYER

PAUL HUTCHISON BEN HOOK SIMON WILLIAMSON PHIL JEFFREY BEN JOHNSON WARREN MITCHELL **BRAD NICHOLAS** PAUL NOBES **BRETT STEINERT**

MATCH AWARDS

ESPLANADE HOTEL, BRIGHTON WARRADALE HOTEL, WARRADALE VIDEO MANIA, MELROSE PARK CHARCOAL CHICKEN, EDWARDSTOWN

PREMIERSHIPS SACA

(Men's)

PREMIERSHIPS SAWCA

(Women's)

A	GRADE	
	1905-06	
	1914-15	
	1937-38	
	1958-59	

1974-75

A GRADE 1990-91 1991-92 1993-94

В	GRADE
	1906-07
	1956-57
	1958-59
	1959-60
	1973-74
	1986-87
	1989-90

В	GRADE
	1991-92
	1992-93

C	GRADE
	1958-59
	1959-60
	1960-61
	1982-83
	1992-93

C	GRADE
	1991-92
	1992-93

D GRADE 1989-90 1992-93

UNDER 17 1951-52 1965-66 1977-78 1978-79 1983-84 1986-87

1990-91 1992-93

JUNIORS 1975-76 1976-77 1979-80 1980-81 1984-85 1986-87 1989-90 1993/94

CLUB	CHAMPIONS
	1955-56
	1957-58
	1973-74
	1987-88
	1988-89
	1989-90

TROPHY WINNERS

EDDIE McCARRON MEMORIAL TROPHY ADELAIDE-MERCURY-OLYMPIC PERPETUAL TROPHY SIR JAMES IRWIN MEMORIAL TROPHY CEC STARR AWARD

ERIN BERNHARDT KAREN ROLTON CRAIG COOPER ROBERT CAIRNEY

MEN

A Grade (Men)

ROLY VAUGHTON MEMORIAL BATTING AWARD CLARRIE GRIMMETT MEMORIAL BOWLING AWARD RON SHARPE MEMORIAL FIELDING AWARD

BEN HOOK ERIN BERNHARDT BEN JOHNSON

B Grade (Men)

BATTING ANDREW MCINTYRE
BOWLING WARREN MITCHELL
FIELDING JOHN LEAKE

C Grade (Men)

BATTING SHANE BERNHARDT
BOWLING BEN ARTHUR
FIELDING GAVIN O'REILLY

D Grade (Men)

BATTING GRANT LOVERING
BOWLING TREVOR NEATE
FIELDING SIMON MASTERS

E Grade (Men)

BATTING CRAIG COOPER
BOWLING CRAIG COOPER
FIELDING MARK PIOVESAN

Under 16 Red

BATTING PAUL KNOTT
BOWLING MATTHEW PLANT
FIELDING DAVID HANDSAKER

Under 16 White

BATTING JEREMY APPLETON
BOWLING JAMIE MICHALAK
FIELDING SCOTT THOMPSON

Under 14 Red

BATTING LUKE WILLIAMS
BOWLING MARCEL FROSSINAKIS/NATHAN JOB/

DAMIEN GELVIN

FIELDING LUKE WILLIAMS

Under 14 White

BATTING SCOTT BUCHANAN BOWLING PETER DUTTON

BOB BERNHARDT MOST CONSISTENT JUNIOR TROPHY

MARCEL FROSSINAKIS

WOMEN

A Grade (Women)

CHRIS GARWOOD BATTING TROPHY PAM DONALDSON BOWLING TROPHY

KAREN ROLTON LEE-ANNE HUNTER

B Grade (Women)

BATTING BOWLING LAURA GIARETTO JACKIE CALDECOURT

PRESIDENT'S REPORT

As I conclude my second year as Club President, I am happy to report that the hours spent during this summer watching mainly our A grade men's team proved to be much more enjoyable than the previous year. Even as I write this report I still have pleasant memories of the 200+ run partnerships during the season by Johnson/Nobes and Johnson/Hook, the successful run chase against Tea Tree Gully at Adelaide Oval including particularly the batting at the end by Hutchison and Smith, the Andrew Ramage catch in the semi-final and the bowling of Erin Bernhardt in the grand final. These are just some of the highlights of the season I will remember for some time. Thanks fellas.

The conclusion of the 1993/94 season leaves me with three dominant impressions about this year and our standing as a Club.

The first is that Adelaide Cricket Club has earned itself a reputation as an organisation of some substance. The efforts of a large number of people to make a real success out of the Australia Day cricket match and the visit of the 1964 test players was outstanding. There is no question we have as a club earned a lot of recognition and made a lot of friends around Australia and Overseas. I hope you took the time to read the expressions of thanks we received from our guests as set out in our recent Newsletter. We can all be quite proud of our efforts. We did well.

My second impression relates to the increased success this year of the senior part of our club. It has been most satisfying to have both our A Grade teams participate in the grand final of their respective competitions. Congratulations to our Womens A Team for their premiership and congratulations also to our Mens A Grade for 'Coming of Age' by turning around the 'Easybeat' tag of the previous seasons and attaining the status of grand finalists.

The individual performances of Paul Nobes for South Australia, Brad Birrell and Jason Gillespie for Australia's under 19 touring team, and Ben Johnson, Ben Hook and Paul Hutchison at state seconds level were outstanding, as were the performances of Lee-Anne Hunter for Australia and Karen Rolton for Australia's Under 21 Team. All these efforts add to the standing of our club.

Reference must also be made to the magnificent achievements of Karen and Lee-Anne for Adelaide during the season and the amazing dominance of these players over the opposition in a number of our matches.

My third impression of our club at this stage of the season is of our current difficult financial position. Despite a lot of hard work by many people we are going to need to manage our affairs very well over the next few years to ensure we remain viable.

My congratulations and thanks to Denis Kildare, Mike Hendricks, Paul Nobes and the other captains for their leadership with our on-field efforts, and to Shane Bernhardt, Lee-Anne Hunter and Jackie Caldecourt for their leadership with the women's teams.

My thanks also to all those who were involved with our under age sides, particularly to the respective coaches. Congratulations to the Under 14 White Boys on their premiership win. Whilst there were many positive aspects of our junior program this year, the Committee feels we need to do even better if we are to regain our standing as the leader in this area.

We have been most fortunate to have the services this year of a very hard working team of ladies in Jill Williams, Anne Avon, Tracey McIntyre and Connie Mitchell. Thanks ladies, it has been a huge effort. Thanks also to Alan Mitchell who will take a break next year after many years of service to our club.

The hard work of the Committee also needs to be recognised. To Leon as Chairman, Rob (who has completed another outstanding year as Secretary and more) and the whole team, it has been a job well done.

We will build on our successes this year and make 1994/95 even better. Your active participation and support will be critical to enable us to achieve that goal.

ROD HOOK Club President

PARK 23

During 1992 57 members and families and friends of the Adelaide Cricket Club came together to raise over \$13,000 to help purchase our future home at Park 23, West Terrace, Adelaide. Without this support the purchase would not have been possible.

The club as a whole is indebted to these people, and these members and friends who have not contributed to our rebuilding program are urged to reconsider.

Last year our club won a Federal Government Grant of \$40,000 to assist with the extensions required on the Park 23 rooms, the building of these extensions will commence within the next few weeks. Unfortunately the extensions will cost approximately \$50,000.

Can you help to raise the extra \$10,000?

Those who have helped t	o date are:			
A & M Avon H Bone M & P Churchett P Donaldson S Hatji L A Hunter H & W Johnson A & T McIntyre A & C Mitchell Nicholas Family A Ramage/A Wyles R & G Sage C Starr C Vel S Wisdom	E Bernhardt M Bradley C & R Cirillo R Falconer M & W Hendricks E Irons C & P Karrittelis M Masters W Mitchell R Pearce J & K Ramage B Sheldon J Thomas L White	G & J Birrell R Cairney D Cruickshank B Gilborne J Hinkly P Jeffrey K & G Lovering L & J Milford T & H Neate C Price R Read C Stacey S & J Trenorden Williams Family	K Bishop Ryan Cairney L Cummings I Harry C & K Hoefel C Jessup McAssey Family Milne Family Newbold Family A Ramage Rolton Family Smith Family M Vaughan J Wilson	
	· · · · · · · · · · · · · · · · · · ·	Detach Here	- X	***************************************
Forward to Adelaide Cri	cket Club, PO Box 177, Ed	wardstown SA 5039 k 23 Trust Fund		

Ι		*************	 would like to c	ontribute
\$	as a Doi	nation / Loan.		
Signed		Date		

COACHES REPORTS

MEN'S REPORT

At the end of each season, regardless of their past record, Cricket Club Committees and Coaches usually sit down and analyse the immediate past seasons' performance(s) and results, and prepare for the next year. After a reasonably successful year, plans are already afoot for next season and with the current crop of younger players merged with established senior players, the immediate future of Adelaide Cricket Club looks bright.

Last season we undertook to change the general attitude of the players from one of lacking mental discipline to one of knowing how to build an innings, bowl to certain batsmen and concentrate in the field. I believe our efforts proved to be in the right directions as Adelaide reached the A Grade Grand Final with an overall team effort, rather than reliance on a few individuals starring.

Having said that, there is still room for improvement in all areas, especially physical fitness, something that will be worked on next season.

All clubs possess their prophets of doom. No matter how well we are placed, there will always be the bar-room selectors, etc, and to those people I say one thing - have a look at the scoreboard! Last season the Management Committee had objectives for the Club and I can speak for all of them when I say we far exceeded what was planned for season 1993-94. However, the benchmark has been set and the hard work must continue.

I will refrain from mentioning individual performances, leaving that to the respective captains and achievement reports in this publication. Suffice to say, I would like to congratulate the Women's A Grade and the Boy's Under 14 White for winning their Grand Finals and also the Men's A Grade for playing in the Grand Final and Men's E and Women's B Grade for playing in the Semi Finals.

In closing, I wish to publicly thank Mike Hendricks for the time and effort he put in assisting me, especially in the area of attitude and general winning approach to the game of cricket, and to all those people who supported the direction I took.

Good luck for the future and remember, keep a clear head, eyes on the ball, a straight bat and enjoy the consequences.

Denis Kildare Coaching Director

WOMEN'S REPORT

An 'A' Grade premiership and runners up in the 'B's would suggest to most people that Adelaide Cricket Club had a successful year of women's cricket.

A double premiership would have been extremely nice, however to achieve what we did was a credit to the individuals involved.

Unfortunately the commencement of the 1993/94 season saw us abandon our 'C' Grade side and enter the season with representation in only two grades.

However, the difficulties we envisaged with player numbers were worse than we first thought and repeatedly both sides walked on to the ground without their full compliment of players. Naturally this placed added pressure and frustration on the girls who regularly represented us. Games were lost purely because we could not fill all the gaps in the field.

After Christmas when we were building up for the finals one or two players recovered from injury and another one or two 'came out of the woodwork'. All of a sudden we were premiership contenders in both grades.

As we know the 'A's were good enough to go all the way with two exceptional individual performances. Captain Lee-Anne Hunter was sensational in the first semi final, whilst Vice Captain Karen Rolton totally dominated the grand final. It was pleasing to see these girls perform so well in the major round as they were both very important players during the year.

Regrettably the 'B's could not continue their semi final form and succumbed to arch rival Flinders University in their Grand Final.

Our club has the potential to be leaders in Women's Cricket in South Australia, but we cannot leave it up to the same few people. We are a club and need to act that way.

To the girls who supported their team mates and me during the season, I thank you sincerely. You are the people who made my job rewarding.

Shane Bernhardt

A GRADE REPORTS

MEN'S REPORT

First of all I would like to thank many people for making this season such a great success, most important Denis Kildare who worked tirelessly with the whole squad from last August and never complained about not seeing me too often during the year. The Committee which was involved in enticing me back from Melbourne.

Roachey who at the start of the year gave me one of the dirtiest looks when I asked him for a coffee, but by the end of the year was more than happy to offer me one, thanks Roachey. And to all the Ladies who made afternoon tea's and dinners for the players, thank you.

At the start of 1993/94 Season my main goal was to restore the Adelaide A Grade Team to respectability amongst other clubs. I was laughed at when I suggested too many state and former state players that we would be extremely competitive this season. It was suggested to me to put my money where my mouth is by State Selector and Tea Tree Gully player Bob Zadow, so I bet we would finish higher than Tea Tree Gully - that was an easy \$20.

The only players that I knew pre season were Chyer, Smith, Jeffry, Ramage and Hutchison. I had heard that Hook had won the A Grade average the previous season.

Darren Chyer was named Vice Captain, congratulations to him on that honor.

As the season developed it was obvious that the A Grade Team was developing tremendous team spirit and cohesion it also had a marvellous will to win which was not apparent at the start of the season. Players such as Williamson, Jeffry, Kitto and Hutchison were becoming more disciplined and accountable for their performances with Hutchison gaining first class honor's for the Tasmania game and the other three guys showing that with hard work and application they would be outstanding players in A Grade. Pearce, Avon, Worthley, Curry and Leake were given chances in the A Grade Team and I'm looking forward to some good performances in the future so they all can progress. Birell and Gillepsie both played for the Australian Under 19 Team and then were selected in our Grand Final Team. Both showed enough to me to suggest that 1994/95 will be a great learning curve for them playing A Grade Cricket. Ben Arthur can be put in the same category and his rise from C Grade to A Grade was tremendous.

Hook and Johnson had good years. I enjoyed watching them bat and was involved in large partnerships with both. These two players should now be striving for higher honours while never forgetting that winning matches for the Adelaide Cricket Club is the quickest way to get there.

I would like to thank Darren Chyer, Andrew Ramage and Warren Smith for their advice and help in the second half of the year. Aas the year wore on they all started to speak freely to me which I appreciated. Their performances were also noted.

And to the most outstanding cricketer in my team this year, Erin Bernhardt well done and keep believing you will play for South Australia, keep performing and you will.

I can assure all sponsors and supporters of the Adelaide Cricket Club that 1994/95 will establish Adelaide A Grade as a force.

Paul Nobes A Grade Captain/Coach

BONE TIMBER INDUSTRIES

Proud sponsors of Adelaide Cricket Club

Men's Teams 1993/94 Season

A GRADE REPORTS

WOMEN'S REPORT

The season did not start very well with us losing two players through injury, Sara Stacey (shoulder - out all season) and Julie Thomas (broken finger - out until Christmas). This left us short of players but we persisted. Prior to Christmas we had lost a couple of games. After the break we started to consolidate and players attitudes towards training and games changed for the better.

Throughout the season all players contributed to the team's performances and it wasn't always left to the same players. In many games we showed that we could get ourselves out of trouble whether we were batting or fielding.

We finished the minor round second on the premiership table therefore playing Sturt in the knock-out semi. Fortunately I had been winning the toss in the few games prior to the semi and luck was with us (I won the toss). We batted first making 8/212 (L Hunter 150), then Sturt plugged away to be all out for 178 (L Hunter 7/52). In the field we worked hard to contain their strike batters and consequently put pressure on the other batters. Good continuing bowling by Kellie Weaver and Sharon McKinley.

In the grand final we played Adelaide Uni, again I won the toss and had no hesitation in batting. We again batted all day making 6/245 (K Rolton 122, C Thomas 55). The following day Adelaide Uni crawled their way to 137. The pressure was put on them from the very first ball of the day. Again the bowlers put pressure on all the batters with Karen Rolton taking 3 wickets, Miranda Bradley 3 and Sharon McKinley 2. A great all round effort by the team. It was a just reward for a team that had finally got it together in the second half of the season.

Thanks must go to Karen Rolton (my Vice Captain) for all her support and encouragement throughout the season. She is a player that is finally coming of age and will represent this state and Australia for a long time. Keep it up Karen. Also thanks to all the other players for their efforts throughout the season. Other people who have to be thanked for their contributions are Sara Stacey, Mr and Mrs Rolton, Mr and Mrs Tuting, and Tracey for their support, encouragement and criticism, umpiring and drinks. Lastly, thanks to Shane for coaching us this year and helping out the team.

Lee-Anne Hunter

JARDINE AUSTRALIAN INSURANCE PTY LIMITED

Proud sponsors of Adelaide Cricket Club
Women's Teams 1993/94 Season

B GRADE REPORTS

MEN'S REPORT

I would class the 1993/94 Season for the Adelaide Cricket Club as a fairly successful and very important development year. The A Grade Team playing the Grand Final after being near the bottom of the heap for the previous two seasons is a huge improvement and I would suggest the B Grade Team did it's job of backing up the A Grade Team.

The B Grade sides performances overall were inconsistent. At our best we were very good and at our worst, very poor. This can happen when you have a high turnover of different players, approximately 30, during a season and you are also blooding a lot of newcomers. Hopefully we have unearthed some future good A Grade players with the likes of Mitchell, Smythe, Worthley, Costello, Todd, Forster and Lovering.

As in any season there are people to thank, Kylie Birrell, our scorer, again did a terrific job. To Anne Avon and Alan Mitchell my thanks for your combined efforts a team manager and also the ladies who prepared some marvellous afternoon teas.

As I enter the next phase of my cricket career, 'Retirement', I would like to take this opportunity to thank the Adelaide Cricket Club for the enjoyment I have had playing, captaining, coaching and socialising for the past MANY years. It has been a huge part of my life and one I will sorely miss. Finally I would like to wish the club and the players all the best for the future with hopefully many successes to come. Thank you.

Chris Price Captain

WOMEN'S REPORT

Whilst Season 1993/94 was not as successful as the previous season it was a rewarding year for the team and the club.

Our team was constantly frustrated by our inability to field a full side, nevertheless this did not stop our regular players from striving to win and this dedication got us to the grand final.

To my team mates, well done.

To the club trophy winners, congratulations.

To the Coach, Team Officers, friends and supporters, many thanks.

Jackie Caldecourt Captain

C GRADE REPORT

MEN'S REPORT

After totally dominating the 1992/93 Season and finally winning the premiership, our 'C' Grade side was brought back to earth quite comprehensively this year.

With only one win prior to Christmas, it was always going to be a hard task to earn a place in the major round. Inclement weather and two narrow losses (2 runs and 5 runs) certainly contributed to our poor start, but so did the inconstancy of our performance. All too often our bowlers would put us into a match winning position only to be let down by our batsmen.

After the Christmas break a turn around in our performances saw us produce some big wins including a thrilling outright victory over Elizabeth. Ironically it was Elizabeth who we beat in last years Grand Final. Many players contributed to our improved performance and we finally finished the season just over two wins short of the four.

From an individual viewpoint, this season's success story would have toe the meteoric rise of Ben Arthur. Joining the club as a 'kid with potential' Ben performed superbly prior to Christmas to earn a spot in the 'B's. As we all know, Ben did not stop there and went one further to be a successful player at 'A' Grade level.

Additionally, David Forster, David Castello, Grant Lovering, Nick Earle and Stuart Smythe should all be well pleased with their performances this year. Each of these players showed that they were more than capable 'C' Grade cricketers and justifiably earned promotion to our 'B' Grade side.

Other highlights during the season were the introduction to senior cricket of players like Brad Westley, Brad Nicholas and Tim Spawton. Each of these players showed that they have a great deal of ability and will be forcing selectors to take notice next year.

It would be amiss of me not to congratulate the 'A' Grade on their performance this season. Considering that five of the players who represented us in the Grand Final all played 'C' Grade cricket over the past few years, it indicates to me the importance of cricket at this level. This example should highlight to many players that 'A' Grade participation may not be far away.

To Anna Forster and Bruce Westley, please accept my sincere thanks for the tremendous off field support you provided during the season.

Denis Kildare also deserves a big 'thank you' for his guidance and support as Club Coach. 'Doc' took over a club with low morale and turned this around very quickly. I am certain that our short term future is assured if Doc continues in this role.

Additionally, Mike Hendricks showed how important the Chairman of Selectors role is. Mike performed his role very professionally and provided with good advice whenever I asked.

Finally, to all the players who I was involved with this season, I thank you for your total support.

Shane Bernhardt Captain

D GRADE REPORT

After the windswept first round loss to eventual Runners-Up Kensington, where play was interrupted by a Jack Fox Sandstorm, it was a pleasure to take over the Captaincy from the 1992/93 Premiership skipper Darren 'Barney' Williams,

Despite our consequent record of 6 wins, 5 losses, 1 draw and a bizarre match against eventual Premiers East Torrens, where we <u>tied</u> on the first innings but went onto lose outright, from our 13 games, I have thoroughly enjoyed the experience in my first year at the Club. I hope it won't be my last.

In addition, I regard it as a very successful season by the D Grade despite finishing 8th and nonetheless, narrowly missing out on the four and a Final Series in which we would have done well. Throughout the course of the season plenty of young talent was unearthed and developed, many completing the season or, at least, having stints in higher grades. And the necessary corollary of that also occurred, namely, that the A Grade wins consistently. The A's did brilliantly to make the finals and the Grand Final. That extra something required to win Flags will come and thus this should be the beginning of a fabulously successful era for the Adelaide Cricket Club. There is so much young talent around. My congratulations to Coach Denis Kildare and Chairman of Selectors Mike Hendricks for their successful guidance this season. It was an enjoyable cricketing education to work with them.

I would like to tell of our season, then through the eyes of the performances of our outstanding youngsters. Although we lost dismally on that first Antarctic day of the season (I have never been so cold playing cricket - and that includes 3 seasons of Club Cricket in England), a young man came on to bowl late in the piece and bowled with good pace (hitting the pitch) into the gale finishing with 2/13 off 7 overs. By the end of the season he had established himself in the C Grade with a 5 and an 8 wicket haul! Congratulations Brad Nicholas.

In the second game we failed to chase University's 9/222 in another one-dayer after we had fielded exceptionally well with 3 direct hit run-outs. We started out the chase very well, however because a talented lefthander opened the batting as was his wish, and he smacked his way to quite a stunning 108, we never saw him again and he ended the season in the B Grade. Well done Dave Castello.

Out on the paddocks in Round 3 against Salisbury we fielded first with a very young team, one short when a 'wild' quick failed to appear, and desperately needing a win. At the first drinks break they were 0/70 odd. We were in deep trouble. But we never gave up and all rallied to put in a huge effort, Matt Paynter changed ends and our luck changed. He took the first 3 wickets as a Hat Trick! And then Simon Masters chimed in, bamboozling them with his slow-medium outswingers. We bowled them out for 193. Simon finished with 5/23 off 13 overs. Well done Matt Paynter and Simon Masters. In reply at stumps we were 4/30. Again we rallied and declared the next week at 5/260 after great innings from Jason Roneberg (106 NO) and Steve Lowry (102 NO) who shared an unbroken stand of 197. Well done Steve Lowry. It was one of the most enjoyable games of cricket I have played. The team of kids were down and out twice but fought and fought and won. It is what the lower grades are all about. Congratulations, too, to Jason Roneberg.

Again we bounced back brilliantly to tie with East Torrens after being bundled out for 91. We could so easily have won. Matt Paynter got extraordinary legal to feature in the amazing climax to the first innings result to finish with 4/34 off 18 overs. He progressed to the C Grade and established himself before persistent injury, unfortunately cut his season short.

Round 5 was reduced to a one-dayer against West Torrens and it was here that we missed out on points. We ended the day one wicket short of an outright after batting first. Brad Nicholas starred with 8 wickets for the day and Simon Masters made some runs at last (44) opening the batting with the ever-improving Grant Lovering.

In the 6th game we battled well the first day to finish with 243 all out in the last over against Glenelg. John Taglienti batted brilliantly for an exciting, entertaining 81 runs. Well Done Tags. Again we missed out on crucial points when the second week was washed out.

The last game before Christmas is a debacle against my Junior Club, Sturt, at historic Unley Oval when illness, injuries and the Club Christmas Show combine to deplete our stocks and energy. We avoid losing outright thanks to Taglienti (75 NO) on Day 2. Day 1 had seen Chris Jeffrey bowl really well again for his second 5 wicket haul in 3 games and Darren Williams bowl superbly without luck. Well done CJ.

We bounced back after Christmas beating Woodville in another 'reduced to one-day' game. Grant Lovering came of age and got through the 20's and 30's to make a 50! Well done Grant. And then our experienced 'youngster' Trevor Neate weaved his magic to take 6/21 off 10 overs. Well done Neaty. He also managed to hold on to the Catch of the Season at slip off 'Barney' Williams who bowled superbly gain for 3/26 off 14 overs and was in full voice that day. Well done Barney.

Round 9 at Elizabeth saw the Grant Lovering Show - 159 in 3 hours with 24 fours. It was a superb knock. We will never see him again. Well Done G.

Darren Williams played well again and is promoted to the C Grade and Tim Spawton captured our second Hat Trick for the year as we forlornly chased an outright. It was the first 3 wickets of the innings again. Well done Tim.

D GRADE REPORT (cont)

We were impressive in chasing Prospect's 225 to win in Round 10 when Tim Spawton opened with a classy 48 (he, too is promoted for the rest of the season) and Simon Masters found top form with 84. Marcus Kennedy bowled superbly back up from the E Grade for 4/33 and established himself in the D Grade. Well done Marcus.

We just failed to defend our paltry 137 in the crunch game against Tea Tree Gully. Simon Masters battled extremely well again (39 and 36 NO) and Matt Paynter fought hard for 24 NO. Craig Cooper gained consistent, controlled outswing to established a place in the side with 3/24 off 27 overs. Well done Coops.

With a depleted side we annihilated Port Adelaide in a one-dayer (what a surprise!) in the penultimate round at Rosewater-more crucial points missed out on. And in the final game with an even more depleted side, full of humour, we just failed to overpower semi-finalist (?) Southern Districts. Included in this side which taunted the opposition was former State 'Keeper/Batsman' Michael Hendricks Esq.

Trevor Neate took 4/14 off 16 overs to almost bowl us to victory and clinch the Bowling Trophy with 23 wickets @ 10.87 runs a piece. Well done Trevor.

Although long since departed Grant Lovering appropriately won the Batting Trophy with 350 runs @ 35.00. Well done Grant.

And, after much consideration of my voting system, with 3 direct hit run-outs, much enthusiastic banter and more catches than anyone excepting the aging 'Keeper' the Fielding Trophy has been won by Simon Masters. Well Done Simon.

When the dust settled we missed out on the Finals due to our inconsistency. At times we were absolutely brilliant in all departments of the game. Too often though out batting and fielding let us down.

I see the D Grade's season as reflecting the great start initiated throughout the whole club to rejuvenate and reorganise the place both on and off the field.

There is however much left to be done. As Grant Lovering, our Player of the Year if we had such an award, would say - 'We Must Stay Focussed'.

I look forward to the future of the Adelaide Cricket Club and it attaining it's rightful position as South Australia's leading club!

Tim Pitcher D Grade Captain

E GRADE REPORT

At the start of the 1993/94 Season, I took up captaincy of the E Grade Team as an inexperienced 19 year old who only wanted to do it to get more notice from Selectors about my performances, but as the season progressed, I came to realise the importance of the team and my role as Captain. I believe that the E Grade this year did extremely well to get to the Semi's (and should have won) against the eventual Premier's, Kensington.

I don't believe it is a waste of time for E Grade this year but we will have to look at the costs etc involved in running a 5th side. We won more games than we lost and helped to give the juniors coming up, a taste of Senior Cricket on their way to higher grades (eg Kieran Todd, David Handsaker, Paul Knott).

This has been the case over the last few years (eg Scott Heywood, Shane Maravin, Jason Gilispie). But maybe D Grade should be the breeding ground for the juniors as Kensington and teams like Sturt are doing.

Anyway in closing, I was happy with the season and very pleased with the guys that stuck with me in times when we struggled for a side. This made the season a very pleasing and successful year and with a few guys that have a potential to become successful in higher grades. I was happy to see these guys progress and mature during the year.

Craig Cooper

UNDER 16 RED REPORT

The U16 Reds had a year of mixed fortunes. While at times the team played some very good cricket to achieve worthy wins we let ourselves down with a couple of early poor performances in games we could have won if we had played at our best.

There were a number of very good games particularly against Kensington, East Torrens, Glenelg (achieved highest score of 250 runs only to have second innings washed out) and Prospect (top team at the time).

The team finished the season in good style winning 5 out of the last 6 games. Unfortunately, however, we missed out on the finals by one game and paid dearly for our two disappointing losses against Salisbury and Sturt. It was interesting to note that our percentage was higher than every other team except the minor premiers.

There were some fine individual performances throughout the year and the awards won by Paul Knott (batting), Matthew Plant (bowling) and David Handsaker (fielding) were well deserved as a result of consistently good efforts. It was however, pleasing to see every player make a significant contribution in at least one game during the season. Despite the disappointment of missing out on the finals I am sure all the boys enjoyed themselves and achieved some improvement in their skills throughout the year.

In closing I would like to thank Ray Ball for helping to manage the team and the other parents who turned up to help and support the team.

Giulio Cirillo Team Manager

UNDER 16 WHITE REPORT

The 1993/94 season commenced with high hopes for a successful season with the side comprising a number of players in their final year of juniors and promising lads from the Under 14's.

Ben Paterson was appointed Captain and David Brown Vice Captain and both performed exceptionally to eventually win promotion the Red Team in the latter half of the season.

Highlights of the season were:

- Con Karatteulis scored 55 in 35 minutes against eventual premier, Tea Tree Gully to almost snatch victory.
- Jeremy Appleton won the batting trophy with a top score of 70 against Elizabeth which secured victory.
- Daniel Milne scored 34 against Elizabeth to share in a match winning partnership of 111 with Jeremy. Daniel's fielding was brilliant throughout the season.
- David Brown played a number of solid innings with a top score of 51 and kept wickets brilliantly.
- Jamie Midalak our most enthusiastic player was always keen to bowl and never stopped trying. He was rewarded with 25 wickets to take out the bowling trophy.
- Scott Thompson played several fine innings opening the batting and was our best fielder to take out that award.
- Ben Newbold again bowled immaculate line and length with some goods spells.

Overall finishing in 6th position was disappointing, but we lost three games by less than 10 runs which was a crucial factor over the season.

In conclusion, thank you to Jenny Appleton for assisting during the year and to parents who supported their lads.

Alan Stienert

UNDER 14 RED REPORT

The U14 Red Team performed very well for the greater part of the season but unfortunately played some of it's worst cricket in the last few matches to finish out of the four. To put things in perspective we defeated two of the four finalists and in fact were in a 'winning' position against Tea Tree Gully, the eventual premier, before snatching defeat from the jaws of victory.

Consistency was the thorn in our side for much of the second half of the season, particularly in the batting area and only Luke Williams (428 runs, ave. 39) excelled in this regard. Marcel Frossinakis performed extremely well as an all-rounder (285 runs ave. 26 and 18 wickets) whilst Nathan Job and Damien Gebren also achieved the wicket tallies of 18 apiece. Luke Williams also kept wickets very efficiently taking 15 catches and 5 stumpings.

I would like to thank sincerely John Morrell for his support and hard work in coaching the White's to a deserved premiership. Thanks also to Leylar Marshall and Doug Kemp for their hard work as umpire and manager/scorer respectively - without them by job would not have been as easy or enjoyable. Thanks also to our band of supporters who encouraged the boys at all times.

Finally, thanks to the lads who were such a good group to be involved with.

Peter Williams

UNDER 14 WHITE REPORT

The U14 White Team achieved the ultimate success for the 1993/94 season in winning the premiership after starting the season badly and being sadly beaten in their first 3 games. The players all rallied together and won 8 of the next 10 games to secure 4th position at the end of the minor round.

There was no dominant player throughout the season with runs and wickets being shared. Scott Buchanan won the batting trophy with 209 runs and Peter Dutton the bowling with 26 wickets.

We played 26 boys throughout the season and the hardest job I had all year was to select a team of 12 for the finals. I am sure that the boys who weren't selected would have performed as well as those who did play.

Grand Final score - Adelaide 9/142 (Buchanan 59, McLean 24 NO), Salisbury 10/70 (McLean 5/24).

A special thank you to all the parents who assisted throughout the season. Messrs Breese, Bilyk, Grunert, Fedele, Buchanan and Dutton.

John Morrell Manager

RAY SUTTON SHIELD (UNDER 13 GOLD) REPORT

The Under 13 Ray Sutton Shield Gold Team performed admirably in the 1994 competition, winning 3 of our 5 matches in our allotted zone.

All round skills were shown to have reached a high level of development by all boys selected in the side. Only inconsistencies in our batting prevented the side from achieving even higher results. However, this is one area that is quite often rectified by simply more experience.

Many thanks to Peter and Luke Williams, John Morrell and Doug Kemp for their invaluable assistance. Thank you to the many parents who supported us and I most sincerely wish all the boys every success in their cricketing future.

Trevor Smith

RAY SUTTON SHIELD (UNDER 13 RED) REPORT

I was quite apprehensive when I was first approached to coach a group of Aboriginal children, many of whom had not played cricket before.

However in retrospect, the past six months have been the most rewarding in my coaching life.

To put together a group of thirteen boys to represent our club and the Aboriginal Community against the best other grade clubs had to offer was a rewarding challenge.

No, we didn't win any matches, but we did bowl out one of the grand final sides, and our scores continued to improve each week.

To coach such an innocent group of boys who have no external pressure to perform and play purely because they love the game, is a situation many coaches never experience. All of us could learn a great deal from these boys.

As a Club we should be most proud that we received the opportunity to field this side and should look forward to the coming season with great enthusiasm.

The work Robert Cairney and Alan Mitchell have put in will 'reap rewards' as I can see one or two of these boys working their way through our junior program.

It would be remiss of me not to mention Warren Mitchell's effort this year in assisting me. Warren is a fantastic young man who certainly has the club at heart.

To the thirteen boys who represented us this season and the members of the Aboriginal Community who supported everything I did, I thank you sincerely.

Shane Bernhardt Coach

BS STILLWELL FORD PTY LIMITED

Proud sponsors of Adelaide Cricket Club

Junior Teams 1993/94 Season

A GRADE MEN BATTING STATISTICS 1993/94

	Player	Inns	NO	H/S	Out	Total	Average	С	St
BBPPSWPADEDMRJ	HOOK JOHNSON NOBES HUTCHISON WILLIAMSON SMITH JEFFERY RAMAGE KITTO BERNHARDT CHYER AVON PEARCE GILLESPIE	21 21 10 11 13 18 13 12 15 14 18 6 8	2 0 0 2 3 4 2 0 3 8 3 0 2 5	88 134 111 75 78 70 92 78 32 57 53 63 18 21	Out * * * *	786 768 401 302 291 279 273 245 211 209 177 128 76 59	Average 41.37 36.57 40.10 33.56 29.10 19.93 24.82 20.42 17.58 34.83 11.80 21.33 12.67 29.50	C 5 5 5 2 5 3 1 4 8 4 5 1 0 2 5 2	St 2
D B	WORTHLEY BIRRELL	2 1	1	14	*	14	14.00	_	
B P	ARTHUR SLEEP	2	0	11		11 10	11.00	2	
A J	MC INTYRE CURRY	1 1 1	0 0 0	4 2 1		4 2 1	4.00 2.00 1.00	1	

BOWLING STATISTICS

	Player	Overs	Mdns	Runs	Wkts	Average
EDPJBPBJAPPDBRSB	BERNHARDT CHYER HUTCHISON GILLESPIE JOHNSON SLEEP ARTHUR CURRY RAMAGE JEFFERY NOBES KITTO HOOK PEARCE WILLIAMSON BIRRELL	275.5 240.6 212.3 143.2 55.1 45.0 44.0 38.0 27.0 30.0 13.0 6.0 6.0 3.0	62 46 39 24 16 14 8 7 3 10 2 2 1 1 0 1	743 720 591 502 130 141 119 126 118 52 105 13 29 13 20 27	40 37 27 18 8 6 5 4 3 2 1 1 0 0	18.57 19.46 21.89 27.89 16.25 23.50 23.80 31.50 39.33 26.00 105.00 13.00 0.00 0.00
	21111111	5.0	7	21	0	0.00

A GRADE WOMENS BATTING STATISTICS 1993/94

	Player	Inns	N) H/S	3	Total	Average	С	St
K	ROLTON HUNTER	17 16	4	191 150	*	876 549	67.38 36.60	4 5	
М	BRADLEY	15	5	101	*	413	41.30	4	
C	THOMAS	13	0	55		201	15.46	2	1
J	THOMAS	14	1	50	*	194	14.92	6	3
S	MCKINLEY	7	0	25		56	8.00		
N	ROOCKE	11	3	11		32	4.00	2	
\mathbf{L}	KLOPP	8	3	17	*	31	6.20	4	
N	TUTING	7	5	7	*	15	7.50	2	
\mathbf{L}	GIARETTO	1	1	14	*	14	0.00		
F	BYFIELDT	2	0	7		13	6.50		
K	WEAVER	9	3	5	*	13	2.17	2	
W	JAMIESON	1	0	12		12	12.00		
S	STACEY	1	0	6		6	6 . 00		
K	MACKAY	4	1	2		3	1.00	4	
J	WILSON	0	0	0		0	0.00		
Α	KELLY	0	0	0		0	0.00		
J	GRIFFITHS	1	0	0		0	0.00		

	Player	Overs	Mdns	Runs	Wkts	Average
L	HUNTER	188.0	64	349	37	9.43
K	ROLTON	158.5	54	323	28	11.54
M	BRADLEY	136.5	30	343	18	19.06
S	MCKINLEY	90.0	22	253	12	21.08
N	ROOCKE	41.4	12	114	6	19.00
K	WEAVER	83.0	22	199	6	33.17
S	STACEY	7.1	1	10	2	5.00
J	THOMAS	20.0	2	75	2	37.50
F	BYFIELDT	2.0	0	8	1	8.00
N	TUTING	14.0	2	47	1	47.00
C	THOMAS	9.0	2	30	0	0.00
K	MACKAY	8.0	0	36	0	0.00

B GRADE MEN BATTING STATISTICS 1993/94

	Player	Inns	NO	H/S	Out	Total	Average	С	St
7.	NO THEFT	4.4							
	MC INTYRE	14	2	68		408	34.00	5	
A J	AMOS LEAKE	13	0	68		282	21.69	6	
R	PEARCE	14	2	64		262	21.83	2	_
S		11	0	68		213	19.36	14	5
D	WORTHLEY	6 7	1	90		193	48.25	1	
P	JEFFERY	4	0	50		191	31.83	1	
М	AVON	10	1	67 70		179	44.75	2	
A		4	0	107		135	15.00	9	
D	FORSTER	3	0	93		127	31.75	3	
В	ARTHUR	8	2	45		117 114	39.00	1	
	SEGAL	3	0	86		105	19.00	2	
	MITCHELL	12	1	37		100	35.00 9.09	3	
G			Ō	35		98	19.60	2	
D	KITTO	5 2 3	0	68		96	48.00	1	
G	LOVERING	3	Ō	26		70	23.33	1	
C	PRICE	13	7	15	*	68	11.33	3	
В	BIRRELL	5	0	19		49	9.80	1	
D	CASTELLO	5	1	24		46	11.50	1	
M	WOOD	8	1	18		43	6.14	2	
S	SMYTH	5	2	17		38	12.67	1	
В	JOHNS	4	0	11		17	4.25	3	
Р	AMATO	2	0	14		14	7.00	1	1
J		6	3	6		9	3.00	_	_
N	EARLE	1	1	7	*	7	0.00	2	
K	TODD	2	1	4	*	5	5.00		

Player	Overs	Mdns	Runs	Wkts	Average
W MITCHELL C PRICE B ARTHUR S SMYTH M WOOD J CURRY B BIRRELL P JEFFERY B JOHNS A MC INTYRE A AMOS M AVON K TODD S WILLIAMSON J LEAKE A RAMAGE D CASTELLO D KITTO	220.0 167.2 106.1 101.6 112.0 83.5 84.2 43.0 55.0 2.0 5.0 9.0 26.0 11.0 8.0 15.0 2.0	44 40 32 21 30 23 24 8 0 1 3 2 0 1 3 0	735 487 246 316 307 232 239 152 204 6 8 30 86 46 19 27 36 5	25 23 21 15 12 10 9 5 3 1 1 1 0 0 0	29.40 21.17 11.71 21.07 25.58 23.20 26.56 30.40 68.00 6.00 8.00 0.00 0.00 0.00 0.00

B GRADE WOMENS BATTING STATISTICS 1993/94

	Player	Inns	NO	H/S		Total	Average	С	st
\mathbf{L}	GIARETTO	8	5	105	*	507	169.00	2	
М	YOUNG	11	1	90		267	26.70	3	
С	MARANO	13	2	62		220	20.00	8	
J	CALDECOURT	12	0	59		201	16.75	4	
W	JAMIESON	7	0	38		118	16.86	1	
G	JAMIESON	8	2	33	*	88	14.67	2	
K	BISHOP	6	1	46	*	77	15.40	1	
K	CHERRY	8	2	26		74	12.33	1	
J	WILSON	9	2	40		74	10.57	6	
Γ	O'MEARA	5	0	36		66	13.20	2	
Α	GLOSTER	8	2	21		43	7.17	2	
S	KEYNES	6	0	18		24	4.00	_	
\mathbf{L}	CUMMINGS	2	0	12		15	7.50	3	
E	CAMPBELL	3	2	4	*	5	5.00	-	
T	CROWE	3	0	1		2	0.67	2	
F	BYFIELDT	2	1	1	*	1	1.00	1	
Α	KELLY	1	0	0		0	0.00	_	
S	HEPWORTH	1	0	0		0	0.00		

BOWLING STATISTICS ===============

	Player	Overs	Mdns	Runs	Wkts	Average
J	CALDECOURT	208.4	57	465	27	17.22
M	YOUNG	133.5	39	325	22	14.77
\mathbf{L}	GIARETTO	139.1	46	242	19	12.74
C	MARANO	110.5	24	290	14	20.71
Α	GLOSTER	32.0	6	108	8	13.50
K	CHERRY	34.0	5	99	6	16.50
F	BYFIELDT	17.0	5	34	3	11.33
G	JAMIESON	9.0	1	49	2	24.50
\mathbf{L}	O'MEARA	6.4	1	9	1	9.00
W	JAMIESON	0.3	0	1	0	0.00

C GRADE MEN BATTING STATISTICS 1993/94

	D1										
	Player	Inns	NO	H/S	Out	Total	Average	C	St		
S		13	1	52		266	22.17	5	DC		
D		11	0	37		261	23.73	3			
D		9	0	64		205	22.78	2			
В		13	2	36		184	16.73	1			
M	_	6	0	98		181	30.17	4			
G		11	1	43		115	11.50	5			
J		4	0	39		95	23.75	J			
M	AVON		0	78		84	42.00				
В		2 6	1	26		79	15.80	3			
G		3	0	41		76	25.33	2			
Α	SEGAL	7	0	35		75	10.71	2			
Ρ	AMATO	5	Ö	37		74	14.80	1			
T	SPAWTON	3	1	32		61	30.50	2			
N	EARLE	3 8	2	32	*	57	9.50	6	2		
R	MITCHELL	2	ō	45		50	25.00	1	2		
S	SMYTH	5	3	16	*	38	19.00	1			
J	TAGLIENTI	3	Ō	26		37	12.33	1			
T	SARGENT	2	1	29	*	35	35.00	1			
S	WISDOM	2 2 3 3	Ō	32		32	16.00	2			
C	JEFFERY	3	1	22		29	14.50	2			
T	NEATE	3	0	16		28	9.33	3			
В	BIRRELL	1	0	22		22	22.00	1			
Α	AMOS	1	0	15		15	15:00	1			
J	RONEBERG	4	1	9		14	4.67	2			
В	ARTHUR	5	3	6	*	10	5.00	1			
J	SCHMITT	2	Ō	8		8	4.00	1			
W	MITCHELL	1	Ō	6		6	6.00	1			
В	KITTO	3 2	0	5		5	1.67	1			
В	NICHOLAS	2	2		*	4	0.00	1			
S	MASTERS	1	0	3		3	3.00				
	PIOVESAN	1	Ö	1		1	1.00	1			
М	PAYNTER	2	2	Ō		Ō	0.00	2			
D	WILLIAMS	3	1	Ō		0	0.00	1			
						-	9.00	-			

	DOWNING STATISTICS												
		=======================================											
	Player	Overs	Mdns	Runs	Wkts	Average							
В	ARTHUR	86.5	24	216	15	14.40							
В	NICHOLAS	54.0	12	167	14	11.93							
В	JOHNS	89.0	22	269	11	24.45							
В	WESTLEY	97.0	17	277	11	25.18							
M	WOOD	49.2	8	174	10	17.40							
S	SMYTH	70.5	9	220	7	31.43							
D	WILLIAMS	79.0	11	265	6	44.17							
В	KITTO	15.2	2	44	3	14.67							
R	MITCHELL	19.0	4	51	3	17.00							
M	PAYNTER	27.1	5	76	3	25.33							
T	SARGENT	29.0	6	82	3	27.33							
\mathbf{T}	NEATE	50.2	8	138	3	46.00							
W	MITCHELL	17.0	2	77	2	38.50							
C	JEFFERY	26.0	4	81	2	40.50							
S	BERNHARDT	1.0	1	1	1	1.00							
D	CASTELLO	15.0	5	39	1	39.00							
В	BIRRELL	12.0	1	57	1	57.00							
G	O'REILLY	1.0	Ō	4	0	0.00							
N	EARLE	1.0	Ő	11	0	0.00							
T	SPAWTON	21.0	1	64	0	0.00							
M	AVON	1.0	Ō	9	0	0.00							
Α	AMOS	1.0	1	1	Ø								
		, 1.0	_	1	Ų	0.00							

D GRADE MEN BATTING STATISTICS 1993/94

	Player	Inns	NO	H7S	Out	Total	Average		St
G	LOVERING	10	0	159		350	35.00	2	
J	RONEBERG	9	2	106	*	306	43.71		
S	MASTERS	14	2	84		281	23.42	5	
J	TAGLIENTI	8	1	81		255	36.43		
S	LOWRY	11	2	102	*	233	25.89	3	
D	CASTELLO	2	0	108		112	56.00		
C	SCOTT	3	1	55	*	106	53.00	1	
Α	SEGAL	2	1	64	*	96	96.00		
M	PAYNTER	5	2	44		86	28.67	2	
T	SPAWTON	3	0	48		80	26.67	1	
T	PITCHER	10	3	27		77	11.00	12	3
N	EARLE	4	1	41	*	59	19.67	3	
C	CHAPMAN	4	1	36	*	55	18.33	1	
C	JEFFERY	6	1	28		53	10.60		
T	NEATE	8	1	32		49	7.00	4	
М	PIOVESAN	2	0	35		42	21.00	1	
J	SCHMITT	2	0	19		41	13.67		
S	WISDOM	1	0	40		40	40.00		
S	O'LEARY	4	0	22		40	10.00	2	
K	TODD	3	0	13		29	9.67	1	
J	CURRY	1	0	28		28	28.00		
В	MACE	5	0	10		23	4.60	2	
С	COOPER	2	0	22		22	11.00	1	
D	WILLIAMS	4	2	8	*	13	6.50	3	
В	NICHOLAS	6	1	9	*	10	2.00	1	
Α	RONEBERG	1	0	3		3	3.00		
R	YEEND	1	0	3		3 3 2	3.00		
М	KENNEDY	2	0	3		3	1.50		
$_{ m L}$	KENNEDY	1	1	2	*		0.00		
Α	HOSKIN	1	0	1		1	1.00		
В	WESTLEY	1	0	0		0	0.00	1	
M	HENDRICKS	1	0	0		0	0.00		
J	MICHALAK	1	0	0		0	0.00		

	Player	Overs	Mdns	Runs	Wkts	Average						
T	NEATE	124.5	45	250	23	10.87						
В	NICHOLAS	96.0	20	283	18	15.72						
S	MASTERS	55.1	17	131	11	11.91						
M	PAYNTER	77.0	16	200	11	18.18						
С	JEFFERY	29.0	7	80	10	8.00						
М	KENNEDY	58.0	18	170	10	17.00						
C	COOPER	57.0	14	112	8	14.00						
D	WILLIAMS	73.2	14	208	8	26.00						
J	RONEBERG	18.4	0	69	6	11.50						
T	SPAWTON	26.0	6	78	4	19.50						
K	TODD	61.0	6	250	4	62.50						
С	SCOTT	15.0	0	60	2	30.00						
J	CURRY	14.0	0	80	2	40.00						
В	MACE	25.0	5	92	2	46.00						
В	WESTLEY	2.0	1	3	1	3.00						
М	PIOVESAN	2.0	0	13	1	13.00						
D	CASTELLO	16.0	3	69	1	69.00						
C	CHAPMAN	2.0	0	14	0	0.00						
L	KENNEDY	5.0	0	30	0	0.00						

E GRADE MEN BATTING STATISTICS 1993/94

F	Player	Inns	NO	H/	S Ou	ıt	Total Av	erage C	St	
(COOPER		9	0	44		216	24.00	6	
	R WICKHAM		6	1	78		202	40.40	2	
	O'LEARY		5	1	93		172	43.00	1	
Ε			7	0	46		152	21.71	6	
	CHAPMAN		6	1	85		147	29.40	2	
	KRAWCZYK		6	0	39		119	19.83	3	
	EDWARDS		8	0	31		119	14.88	1	
	I PIOVESAN		8	3	37		113	22.60	8	2
	DUFFIL		7	2	57	*	97	19.40	9	2
	GILLESPIE		1	0	91		91	91.00		_
J			2	1	51	*	90	90.00	1	
	WRIGHT		10	4	36		87	14.50	4	
K			2	0	43		80	40.00	3	
J			2	0	46		46	23.00	3	
C			1	0	39		39	39.00	Ü	
M			2	1	21	*	35	35.00		
D			1	0	32		32	32.00		
N			3	2	15	*	26	26.00		
T	- -		1	0	23		23	23.00		
S			2	0	13		18	9.00		
M			5	0	11		16	3.20		
S			2	0	8		12	6.00	1	
	RONEBERG		1	1	12	*	12	0.00		
D			2	0	11		11	5.50		
В			1	0	6		6	6.00		
	WILLIAMS		1	0	6		6	6.00	1	
	LEONARDS		1	0	6		6	6.00		
	HOSKIN		1	0	5		5	5.00	1	
	FORREST		1	0	5 5		5	5.00		
	VAUGHAN		1	0			5	5.00	2	
	HATTON		1	0	1		1	1.00	1	
	YEEND			0	0		0	0.00		
	AMOS			0	0		0	0.00		
	PAYNTER			1	0		0	0.00	1	
C				0	0		0	0.00	1	
P	KNOTT		1	0	0		0	0.00		

	Player	Overs	Mdns	Runs	Wkts	Average
С		165.0	44	435	27	16.11
В	MACE	76.1	25	173	19	9.11
M	-	95.2	25	281	14	20.07
K	TODD	82.0	12	250	10	25.00
J	SCHMITT	9.3	3	23	5	4.60
T	SPAWTON	40.5	6	114	5	22.80
D		55.0	14	115	5	23.00
C	JEFFERY	23.0	13	24	4	6.00
S	LOWRY	19.0	8	30	4	7.50
M	PAYNTER	21.0	8	31	4	775
R		38.1	5	139	4	34.75
J		42.0	10	141	4	35.25
S	O'LEARY	2.0	0	10	3	3.33
M	PIOVESAN	16.0	0	84	3	28.00
D	KILDARE	4.0	0	32	2	16.00
Р	KNOTT	24.0	5	59	2	29.50
M	HENDRICKS	23.0	4	66	2	33.00
В	HATTON	22.0		75	2	37.50
S	KRAWCZYK	38.0	= 5 2	183	2	91.50
A	AMOS	2.0	1	1	1	1.00
M	LEONARDS	2.5	0	10	1	10.00
A	WRIGHT	4.0	0	13	1	13.00
N	PETTIGREW	4.0	0	16	1	16.00
В	NICHOLAS	8.0	2	19	1	19.00
D	HANDSAKER	8.0	2	28	1	28.00
C	CHAPMAN	20.1	2	74	1	74.00
S	WALMSLEY	2.0	0	20	0	0.00
A	EDWARDS	10.0	2	61	0	0.00

WEST END CUP GRADE MEN BATTING STATISTICS 1993/94

	Player	Inns	NO	H/S	Out	Total	Average	С	St
P	JEFFERY	5	1	71	*	141	35.25	2	
R	PEARCE	4	0	65		130	32.50	3	
В	JOHNSON	6	0	41		112	18.67	2	
D	CHYER	5	0	72		107	21.40	2	
P	NOBES	4	0	41		91	22.75	1	
D	KITTO	4	0	66		86	21.50	_	
В	HOOK	6	0	26		82	13.67	3	
W	SMITH	5	3	25		75	37.50	8	
S	WILLIAMSON	3	0	45		63	21.00	2	
E	BERNHARDT	6	1	13		43	8.60	==	
M	AVON	2	0	25		34	17.00		
P	HUTCHISON	4	0	16		30	7.50	1	
J	LEAKE	2	0	21		21	10.50		
A	RAMAGE	1	0	15		15	15.00	1	
J	GILLESPIE	3	1	.8		8	4.00	2	
J	CURRY	2	1	4		4	4.00		
A	AMOS	1	0	2		2	2.00		

	Player	Overs	Mdns	Runs	Wkts	Average
P B E D J P	JEFFERY JOHNSON BERNHARDT CHYER GILLESPIE HUTCHISON	33.0 36.1 51.0 29.3 37.0 38.1	2 4 8 4 4 5	125 158 164 77 137 126	11 8 8 6 6 4	11.36 19.75 20.50 12.83 22.83 31.50
S B	WILLIAMSON HOOK	5.0	0	20	1	20.00
J	CURRY	13.0 18.0	0 2	73 75	1 1	73.00

SHELL SHIELD BATTING STATISTICS 1994

	Player	Inns	ИО	H/S	Out	Total	Average	С	St
В	WESTLEY	7	0	55		160	22.86	6	
S	MASTERS	7	0	88		155	22.14	1	
Р	KNOTT	7	1	25		123	20.50	1	
С	CIRILLO	5	0	60		106	21.20	1	
K	TODD	3	1	52		97	48.50	2	
В	MACE	7	0	31		77	11.00	4	1
D	HANDSAKER	5	0	34		73	14.60	5	
Α	CROFT	6	0	12		51	8.50	3	
М	PLANT	6	2	27	*	48	12.00		
G	VAUGHAN	4	0	17		47	11.75	1	
Α	EDWARDS	4	0	14		30	7.50	3	
Α	BALL	5	0	10		25	5.00	3	
В	NICHOLAS	4	2	1	*	3	1.50		
Α	GRANT	2	2	1	*	1	0.00	1	

	Player	Overs	Mdns	Runs	Wkts	Average
D	HANDSAKER	38.0	4	153	8	19.12
В	NICHOLAS	49.0	5	154	8	19.25
S	MASTERS	47.0	2	245	8	30.62
В	MACE	32.0	1	174	7	24.86
P	KNOTT	51.0	5	239	7	34.14
М	PLANT	25.0	4	107	3	35.67
В	WESTLEY	61.0	9	247	3	82.33
K	TODD	26.0	4	132	2	66.00
Α	GRANT	8.0	0	56	1	56.00
Α	EDWARDS	12.0	0	82	1	82.00

U/16 RED GRADE BATTING STATISTICS 1993/94

	Player	Inns	NO	H/S	Out	Total	Average	C	st
P	KNOTT	13	2	79		487	44.27	2	
D	HANDSAKER	13	3	104	*	401	40.10	10	
C	CIRILLO	13	0	78		400	30.77	1	
Α	BALL	12	2	33		181	18.10	3	
G	VAUGHAN	13	1	55		172	14.33	10	
C	KARITTEVLIS	11	1	34		139	13.90	11	
Α	CROFT	8	2	20		111	18.50	9	
S	KING	7	4	15		62	20.67	2	
M	PLANT	6	0	29		43	7.17	4	
В	PATERSON	5	2	7		11	3.67	3	
Α	GRANT	6	3	5	*	9	3.00	1	
\mathbf{L}	KENNEDY	1	1	8	*	8	0.00	_	
J	APPLETON	1	ō	5		5	5.00		
В	MISLOV	1	Õ	3		3	3.00		
D	BROWN	3	Õ	2		2	0.67	5	2
D	MILNE	2	1	1		1			2
В	GRIFFITHS	1	1	1	*	1	1.00	1	
S	COULTHARD	1	0	0	^		0.00	_	
~		1	U	U		0	0.00	3	

	Player	Overs	Mdns	Runs	Wkts	Average
M	PLANT	92.0	21	245	20	12.25
D	HANDSAKER	122.0	27	307	17	18.06
S	KING	63.5	4	269	15	17.93
P	KNOTT	84.0	18	272	13	20.92
В	PATERSON	49.0	7	147	8	18.38
Α	GRANT	77.0	12	247	7	35.29
	KARITTEVLIS =	11.3	1	45	4	11 25
C	CIRILLO	33.0	5	81	4	20.25
\mathbf{L}	KENNEDY	17.0	2	60	3	20.00
A	BALL	1.0	0	5	2	2.50
S	COULTHARD	11.0	3	57	1	57 00

U/16 WHITE GRADE BATTING STATISTICS 1993/94

	Player	Inns	ИО	H/S	Out	Total	Average	С	st
J W D S B	BROWN COULTHARD	9 11 4 7 8 9	2 3 1 0 2	70 25 58 51 29 21		198 124 114 84 75	28.29 15.50 38.00 12.00	1	1
В		7	1	28		63 62	7.00 10.33	1 2	
C	KARITTEVLIS	1	0	58		58	58.00	۷	
D	MILNE	9	0	34		54	6.00	5	
S	THOMPSON	11	0	18		52	4.73	3	
A		4	1	21		48	16.00	3	1
В	HAGE	8	3	12		42	8.40	2	
В	NEWBOLD	9	2	12		39	5.57	4	
В	PATERSON	3	0	18		25	8.33	3	
L	KENNEDY	2	1	13	*	19	19.00		
S	HILLIER	3	1	11	*	16	8.00	1	
J D	CHAMBERS	1	0	12		12	12.00	1	
R	SZKUP	6	0	6		11	1.83		
л Р	DAVIES	2	1	0	*	6	6.00		
A	KARITTEVLIS	1	1	9	*	5	0.00		
M	BALL	1	0	4		4	4.00		
В	PLANT MISLOV	1	0	2		2	2.00		
D	DAVIS	1	0	0		0	0.00	1	
ע	DVAID	1	0	0		0	0.00		

	Player	Overs	Mdns	Runs	Wkts	Average
J B B A B B S S L B M S J P D J D C	MICHALAK HAGE NEWBOLD GRANT PATERSON STEINERT COULTHARD HILLIER KENNEDY THOMPSON PLANT THOMPSON APPLETON KARITTEVLIS SZKUP CHAMBERS MILNE KARITTEVLIS	111.5 94.0 91.5 40.1 77.2 65.0 67.0 16.0 25.0 8.0 10.0 2.0 3.0 6.0 7.0 10.0	23 20 34 7 22 9 13 1 6 0 1 0 1 2	337 212 221 102 207 237 215 93 63 21 44 4 5 21 22 28 33	25 14 11 10 9 8 6 4 3 2 2 1 1 1 1	13.48 15.14 20.09 10.20 23.00 29.62 35.83 23.25 21.00 10.50 22.00 4.00 5.00 21.00 22.00 28.00 33.00
-		5.0	2	13	0	0.00

U/14 RED GRADE BATTING STATISTICS 1993/94

	Player	Inns	NO	H/S	Out	Total	Average	С	St
т	LITTITANG								
Г	WILLIAMS	13	2	138		428	38.91	15	5
M	FROSSINAKIS	12	1	48		285	25.91	5	
S	WILLIAMS	13	2	37		199	18.09	4	
P	HADDAD	10	2	54		139	17.38	1	
D	BOWLEY	14	2	38		133	11.08	2	
M	PETTIGREW	13	2	25		122	11.09	1	
N	JOB	10	3	62	*	121	17.29	3	
N	CROSBIE	6	0	26		47	7.83	4	
В	RAMSAY	7	2	21	*	43	8.60	3	
L	HARRIS	1	1	28	*	28	0.00	2	0
S	THOMPSON	3	1	12		18	9.00		Ü
S	THOMPSON	3	1	13	*	16	8.00	1	
C	KEMP	5	2	9		15	5.00	1	
D	GELVIN	7	3	6	*	15	3.75	5	
J	WHITE	2	1	7	*	7	7.00	J	

	Player	Overs	Mdns	Runs	Wkts	Average
M N D C M S S P D L S B	FROSSINAKIS JOB GELVIN KEMP PETTIGREW THOMPSON WILLIAMS HADDAD BOWLEY WILLIAMS THOMPSON RAMSAY	92.0 133.0 124.0 83.0 70.0 26.0 11.0 1.0 2.0 2.0 2.0	26 33 25 12 16 4 1 0 0 0	220 311 314 218 172 75 35 2 8 11 12 8	18 18 18 11 7 6 3 1 1 0 0	12.22 17.28 17.44 19.82 24.57 12.50 11.67 2.00 8.00 0.00 0.00

U/14 WHITE GRADE BATTING STATISTICS 1993/94

	Player	Inns	ИО	H/S	Out	Total	Average	C	St
S	BUCHANAN	13	2	82	*	205	18.64	5	
J	WHITE	11	0	50		203	18.45	6	
D	JENKINSON	8	1	51		133	19.00	2	
Α	MORRELL	13	2	42		131	11.91	8	
N	CROSBIE	5	0	42		88	17.60	1	
Α	HOGBEN	9	0	30		86	9.56	2	
Đ	FEDELE	8	2	25		82	13.67	4	
Α	MC LEAN	9	1	24		75	9.38	2	
С	BREESE	11	5	29	*	74	12.33	12	1
S	VAUGHTON	6	2	37		68	17.00	1	
Р	HADDAD	1	0	64		64	64.00	1	
S	GRUNERT	7	3	34	*	61	15.25	6	
В	RAMSAY	2	0	52		55	27:50		
М	BILYK	7	0	22		50	7.14		
S	THOMPSON	1	1	44	*	44	0.00		
S	THOMPSON	1	1	33	*	33	0.00		
Р	O'KEEFE	4	2	- 8		20	10.00	1	
D	DAVIS	7	0	10		20	2.86	2	
В	DABROWSKI	7	2	8		17	3 40	3	
Р	DUTTON	6	5	5	*	11	11.00	1	
G	MC REDMOND	3	0	4		8	2 * 67	2	
D	STEINERT	3	0	4		8	2.67	1	
Α	JANKOVIC	1	0	0		0	0.00		

	Player	Overs	Mdns	Runs	Wkts	Average
PAADDBPDAG	DUTTON MORRELL MC LEAN FEDELE STEINERT DABROWSKI HADDAD DAVIS HOGBEN	160.5 111.1 118.3 118.0 68.3 80.3 7.0 5.0	42 19 29 13 13 16 0	306 297 202 320 181 183 39 12	26 22 20 18 11 10 2 1	11.77 13.50 10.10 17.78 16.45 18.30 19.50 12.00
S M	THOMPSON BILYK	6.0 13.0	0	41 68	1 1	41.00 68.00
P S G B S S	O'KEEFE BUCHANAN MC REDMOND RAMSAY VAUGHTON THOMPSON	4.0 5.0 3.0 9.0 1.0 5.0	0 1 0 1 0	9 11 12 21 3 16	0 0 0 0 0	0.00 0.00 0.00 0.00 0.00

RAY SUTTON SHIELD GRADE GOLD BATTING STATISTICS 1993/94

	Player	Inns	NO	H/S	Out	Total	Average	С	st
Α	HOGBEN	5	0	80		130	26.00	1	
S	WILLIAMS	5	0	61		122	24.40		
D	JENKINSON	4	0	37		63	15.75		
В	RAMSAY	4	1	41	*	58	19.33		
J	WHITE	4	0	33		55	13.75		
Ρ	KARITTEVLIS	4	1	11		31	10.33	1	
D	GELVIN	4	3	20	*	28	28.00	2	
S	GRUNERT	4	1	13	*	- 23	7.67	4	
A	MORRELL	5	0	12		19	3.80	4	
A	JANKOVIC	4	1	5		9	3.00	2	
Р	DUTTON	2	1	1	*	1	1.00	_	
J	HOARE	2	0	1		$\overline{1}$	0.50	1	
C	KARITTEVLIS	0	0	0		0	0.00	_	

	Player	Overs	Mdns	Runs	Wkts	Average
D P	DUTTON WILLIAMS MORRELL RAMSAY	37.2 37.0 40.0 31.0 31.3 14.0	14 9 7 8 3 1	76 86 93 86 86 54	8 8 8 5 5 2	9.50 10.75 11.62 17.20 17.20 27.00
J	WHITE	1.0	0	10	1	10.00

R J	AGIUS MUIR		5 5	0	35 32		63 59			
S	POWER		5	0	17		48			
D	WANGANEEN	1.67	5	1	29	*				
_				_		^	30			
J	GLANCEY		5	0	8		1:	3 2.6	0	
Ρ	MITCHELL		5	0	4		10	2.0	0	
D	POWER		3	1	6	*	(5 3.0		
W	MACILWAIN		1	0	2			2 2.0		
K	KARPANY		2	0	2			2 1.0		
J	DROVER		3	1	1			0.5		
М	MUIR		4	1	1		-	0.3		
W	RANKINE		3	0	0		(0.0		
Α	DROVER		4	0	0		(0.0	_	
F	AGIUS		4	1	0		(0.0	_	
T	WATTS		1	0	0		(0.0		

	Player	Overs	Mdns	Runs	Wkts	Average
					20	
J	GLANCEY	32.0	8	127	7	18.14
D	WANGANEEN	23.0	1	84	5	16.80
Α	DROVER	10.0	0	41	3	13.67
S	POWEŔ	16.2	4	87	3	29.00
J	MUIR	26.0	3	107	3	35.67
Ρ	MITCHELL	6.0	0	26	2	13.00
F	AGIUS	5.0	0	33	2	16.50
D	POWER	8.0	0	39	2	19.50
K	KARPANY	16.0	2	54	2	27.00
R	AGIUS	36.3	7	124	2	62.00
W	RANKINE	6.0	0	33	1	33.00
М	MUIR	5.0	0	22	0	0.00
J	DROVER	2.0	0	12	0	0.00
T	WATTS	4.0	0	28	0	0.00
W	MACILWAIN	1.0	0	9	0	0.00

BAR TRADING ACCOUNT

YEAR ENDED 31 MARCH 1994

SALES				\$20,974.49
LESS OPENIN	IG STOCK 1/4/9	3		\$878.43
LESS PURCHAS	SES			\$14,177.64
PLUS CLOSIN	IG STOCK 31/3/	/94		\$1,317.45
GROSS PROFII	-			\$7,235.87
OTHER INCOME	Ē			\$544.32
TOTAL INCOM	E			\$7,780.19
LESS EXPENSE BAILEY SPORT BANK FEES MORTGAGE CLEANING SUNDRIES GAME COSTS SA WEEK EXPE UTILITIES REPAIRS + MAI LICENCE FEE POSTAGE/STAT SECURITY	S CLUB MAINTE	NANCE	\$95.45 \$71.01 \$2,693.96 \$1,540.00 \$170.00 \$50.00 \$1,195.00 \$2,364.95 \$88.00 \$362.25 \$268.15 \$222.30	\$9,121.07
NET SURPLUS/	DEFICIT			(\$1,340.88)
OPENING CAS	SH BALANCE 1/ IFF	O/STOCK	\$878.43	\$2,973.07
NET CASH SUF	RPLUS/DEFICIT	C/STOCK	\$1,317.45	(\$439.02) \$1,193.17
BANK RECON BALANCE AS	\$3,759.54 (\$2,946.37) \$380.00 \$1,193.17			

ADELAIDE CRICKET CLUB INC. SBSA ACCOUNT 022/0055512240 YEAR ENDED 31 MARCH 1994

INCOME + EXPENDITURE ACCOUNT

--- F

INCOME PARK 23 DONATIONS PARK 23 RENTAL MAINTAINENCE FEE SALE OF EQUIPMENT PARK 23 REIMBURSE COUNCIL FEE BANK INTEREST PORT SALES TIE SALES DINNER AUCTION	\$710.00 \$1,300.02 \$600.00 \$100.00 \$190.00 \$24.94 \$2,807.00 \$6,670.70 \$2,810.00	\$15,212.66	
PARK 23 REPAYMENTS UTILITIES PARK 23 MAINTAINENCE PARK 23 COUNCIL FEE BANK FEES PORT TIE POSTAGE TRAVEL EXPENSES SOUTH AFRICAN WEEK COSTS LICENCE FEE BAILEY RESERVE	\$1,780.00 \$1,309.63 \$423.34 \$392.00 \$39.48 \$1,545.60 \$5,705.00 \$131.80 \$781.00 \$2,962.00 \$362.25	\$15,432.10	6
NET EXPENDITURE SURPLUS/DEFICIT			(\$219.44)
CASH SURPLUS 1/4/93 DECICIT 1993/94 CASH SURPLUS 31/3/94			\$2,369.98 (\$219.44) \$2,150.54
BANK RECONCILIATION BALANCE AS PER BANK STATEMENT #3 3 LESS UNPRES CHEQUES BALANCE AS PER CASH BOOK 31/3/94	:1/3/94 #000126 #000132	\$20.00 \$20.00	\$2,190.54 \$40.00 \$2,150.54

SBSA GENERAL BANK ACCOUNT

YEAR ENDED 31 MARCH 1994

INCOME		EXPENDITURE	
PLAYERS SUBSCRIPTION	10247.00	GREENKEEPING	12780.00
SPONSORSHIP	4590.00	GROUNDS	6372.45
CURATING	1190.00	EQUIPMENT	<i>5510.58</i>
FUND RASING	7536.00	FUND RASING	3485.22
SACA GRANTS	23833.00	COACHING/PLAYING FEES	9639.00
SUNDRY	637.19	SCORERS	630.00
		INSURANCE	1680.08
		FUELS	650.00
		REPAIRS + MAINT	2076.08
NET EXPENDITURE OVER INCOME	2467.86	SAWCA	2310.00
		SUNDRY	2451.20
		BANK FEES	375.44
		BANK LOAN PARK 23	2541.00
	\$50,501.05		\$50,501.05
DANK DECONOR ATION			

BANK RECONCILATION	N
--------------------	---

OPENING BALANCE	(\$783.94)
plus	
OUTSTANDING DEPOSITS	\$0.00
less	
UNPRESENTED CHEQUES	\$0.00
	r

BALANCE AS PER BANK STATEMENT	(\$783.94)

CASH BOOK RECONCILATION

OPENING BALANCE	\$1,683.92
laca	

NET EXPENDITURE OVER INCOME (\$2,467.86)

BALANCE AS PER BANK STATEMENT (\$783.94)

SUMMARY OF BANK ACCOUNTS 31/3/94

BAR ACCOUNT	\$1,193.17
GENERAL ACCOUNT	(\$783.94)
PARK 23 ACCOUNT	\$2,150.54
INVESTMENT ACCOUNT	\$3,510.98

\$6,070.75